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O0000000 center DO00O0000000000DO0O0O0O0O0OOO0678000000 N OO center
gboooooboooboob0 FOo0o0oooobooboooow, 0000 NODODOooOoOOooD 9000
(93) 000D O0UOOOoooDOoo

47
=1z, (102)

00000000000000 NOOOOOOOUOOOO0OUOOOOUOoOoooooo () oooooo

goooood
4

N
0000 pO000000 r=p?/20000000000000000 1/NOOOOOODOOOOO
00 (94) 00000000 40000000000000000000000 (102) 0000049 00
00 410000 4r/NODOODOOOODOO0O000D0O00000000000000000 R4000
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wIO00O00O0DO0O0OO0O00000000 2000000000000000000000002%00
000000 RODODOOOO 2000 280000000000 S'00000000000000
00000000000000 w000 w;, 000000000 S!0000000000000OO0
00000000000000000000 S'xROO0O0O0O0O0O z,yeCOO0O0O0DO C200000
ubobooboboooobooooog

Ty =c (118)

O000Oc¢0 0000O00O0OOOO(18) 00020 yOOUOOUDO OOOOOOOOODOOUOO2zO0OO
000000000000 yOO0OUOODOOOOO0OODO0O0OO (18 0000000000000 O0OoO0

Oo0ooddododoooooooono
\ /
x

|

O3 2zy=c#000000000000 1000000000000DOC00DODOzy=000000D0
gboooboobooooobooon

00 wO w; 0000000000000 OOOS'O000000000000000000O000
wy 0000000000000 000000000 0ob0ooocobo0obooooo0oboooonoo

xy =0 (119)

U0000z=0000 y=00000z=0000 yODOOODOOODOyOODOODOOODOODO
U0 y=00000 «20000000002:00000000000000000x=y=000000
00000000000 y0O0OO0O0ODOO0OOOOODOOO (119 000000000000 OOO0
obooobOobooooboboooooboboooooboooooaon

0000000000 000D0O000 Taub-NUTOOOOODOODOOODOOOODOD

Ty = H('LU*'LU]). (120)

I

0000000 2000 y0000000000 (1200000000000000000000 2800
02°000000000000000000000000O000O0O0O0O0O0DOODO

17



0000000000000 300 KahlerformOOOOOOOOOODOOOOOCOOODOOOOOO
0000 (117 ) 0000000000000 00000UD ks 0O00O0OODO0ODOOOOOOOOOOOOO
OO0000o0o0o00oDooooooogd 2form O000O000CDO

—9
w(2,0) = ke + ik = —idw A (—Hd$8 + idx ) (121)

000000 dwOOOOOOCOOO 2-form O (2,0)-form O000O0000O00O0OOOOTaub-NUT
obOobo0O 20000000000000000DO00O0O0DOCOODOOCOOOOOO0 pOOOO
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O000000000O000oOO00o(23)00oooooooooo
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OO0000D0O0O00000DO0O0OOdeform 000 Calabi-Yau OOOOOOOODOOOOOOOOD
O000000OCalabi-YauOOO 0000000 p-000000000 A-00OQQOOCOO B-OO
oooooobooooobooob s-boboooogoo

O00OA-cycle 0O00O0OD0OOOOOOOONSS-brane OOO0OO0OCOCOO C;000000CCDC0O0O
0000000000 00Db000 a-cycleD0DO0OOO0ODOOOODOOOC,ODO00O000O00ODO
0000000000000 110 (0000000 T-duwal DO0O0OOOO0OOOOO C; 0000
000 §; 00000000 300000000000000 82000000 3-cycled A; 0000
ooodo ;00000000000 0000000000000D0 «ODOO0OO0OOO0OOOO0O0D0OO0
000000000000 0000000000O000U00000000U00UD JO000o0ooooo
000000 « 0000000000000 00000000000000000000000oO00
0000000000000 000000«e 00000000 S;0000000000000 & 000
00000 5,0 S 000000000000000000O0 A, 00000 0000 S200000
000000000o0o00oUuoooooomo 110 (b)O

0 11: Calabi-Yau OO A, 0000

00 B, 00000000000 0O0DODOO 0000 ;000000000 DOO0ODODOOpR; O
ubboobobooooboboobooboboooboobooooooboooobOobooooboOoobn
0oc,00¢c,00fdgooooooooooogoon g, ooooo c,000000oOoooooooo
00120 ()00O00 T-duwal DOOOODOOOO C; 00000 S;0000000000000 S50
00000 3000000ooooo0 300Dbo0 ;0000 D0000DODOOO0OOOOoOooD
00o00oo00ooUo0ooo0oo0oo0ooUo0oUUD 00000 0000000 ooooO
;00000000 S;0000000000pB,0000 Sq=5-50000000000000B;
00000 800000 S?20000 30000000000000000000MmM0 120 (b)O
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0 12: Calabi-Yau OO B, 0000

A, 00000 B, 00000 ;O g 0000000ODOO0ODODODOOODOOO

0000 NS5-brane 0 28 00000 0000000000000000w000000000 Taub-
NUTOOOOOOO0D000 2cycle000000000000 AA000000 0000000 Lagrangian
0000000000000« 0000000 Taub-NUTOODODOOOOO 2000000000 A4
00000 B, 0000000000000 000OO (299 00000 oOOO0OOOUDOOOODOOO
00000000000000 (299 0000000000000 0DO0OO0O0O0ODOOOUOOOUOOOO
gboooboboooobooboooooboooobobooobooboooooboooobOooboooDoDbb
goooooboooobobooogooboo

4.4 Gukov-Vafa-Witten OO0 QO QO QOO

0000000000000 0000000 (287)0 Calabi-YauOOOOOOOOOOOOODOOOO
0000000000000000 (270) 0 (277) O Calabi-Yau OO O OOOOOOOOOOOOOO
ooooog

00 (277) D0000000wO (293) 00000000000 OD0O 2000 S;,000000000O
OO0000000wduw 0 o 00000000O00O0O

Slv:/ wdu:/ </ w(2,0)> du (311)
(7} (e 77 Sr

Oo00o00O0O0O S;00000 0 00000000CCCCO0O0ODO0O0ODODO Calabi-YaudOOd A, 000
0000000 Calabi-Yau O O holomorphic 3-form O (298) DOO000O0O0O0OO0OO0OOOO0O S; O
w0 A4, 00000000000000D00000O0O0OI,; 000000000000000O0O0
good

Sz' :%4 UJ(370), Hi :/ LU(370) (312)

00 (270) OO differential ds 0 « 000000000 N; 0 00000000000 «0000 s
000 2-form 000000000000 (295 00000000000 (270) 00000 sO0OOOO
00 000 4 000000000000000000000000O00O000O00O0 A; 000 B, O0O00O0O
000000 GsOoOoooooooooooo

Nizf GY, T—i—’ni:/ GY. (313)
A; B;
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gooooo 3-o0d G?DDDDDDDDDDD
GS =GP 4 7, HE. (314)

(313) 0000000000000 00O0L0O0U0OO0LOOUOO0OOOUUODOOA; D00DOODOO N;O0
000000000000000 N;00 Ds-braned A, 000000 S20000000000000
gobooobooooooooobooooooobooooobooo rOobOO0ODOODOODOObOOODO
00000 (300)000000000000000000000000000 S2000000 D5-brane
gboboobOoboooooboooobobooooboooobooboooonog

(312) 0 (313) U0D0OOUODOOOUOOOOOOO (2287) 000000 OOOOOOO

eﬁ—gm[]f w<30)/ Gs—f 30)/ Gg} (315)

0000g4 0 T-dual 0000000 MAOOOOODDOOOOODO000000 IBOOOOO
00000 g4 =LagB, 00000000000000 3000000000000

1
Qs.0) = 77960 (316)

Wiz = duNwee 00000 (294) 000000 L, 000000000000000Q 0000
0000000000000 00000000000

mnpS P = 8. (317)

@\*—‘

41
Q3,00 N Q3.0 = 3 —kcy Akey Nkey, Qo) =

Q30 0000 (315)0000000000000000000

Weg = Tps {f Q(3,0)/ G3—?{ Q(3,0)/ G3] (318)
A; i i A;

000 Tps = 2n/gB. 0 D5-brane 0000000000 Gukov-Vafa-Witten 00000000000
[16]0
IIBOOOOOODO0000000000000000000000

S; Etr(WiWi) S = TD5/ 9(370) (319)
gstr A

00000000 3180000000000 U00o00ULOO0O0DooO0o0DoOooOOoUOooOOoooo
OO00Calabi-Yau O A, D0000O0000ODO nOO0 D5S-000000O0O domain-wall 00000000
OO0000O0000DOOo0o00oDoO0g GsO B, 00O0O0O0OO0DOOO0ODOD

Aé}%:n. (320)

0000000000000000 B; 0000000 A;0000000000 s#000000000
obooooobooooboboooooboooobOoboboooboboooooboOooooobOOonon

%S%m
A .

i

O000A; 0000000 wseyOOODDODODODOODOODOO0OODOOODOOOO

Vwmm>=
A;

ooooooooooo BpSOOCOOOOOOO0O0OOOOOOOOOOOOOOOOCOOOOODOO
0000000000000 0000000 (321) 0000000000000 OooOOoOoUooooO
0000000 Dh-brane JODODOOOODOOOOODODOOOODOOO

|AWegr| = nTbs =nTpsV (321)

(322)
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4.5 0000000000

§4.10 §4.200000 200 NS5-brane 000000 D4-brane DO0OO0 N =2000000000
00000000000NSs-braned w 000000000000 000O00O00O0O0ON =1000
0000000 §430§44 00000 T-duwal 0000000000000 Calabi-Yau OOOODOO
ooooooo

000000 Calabi-Yau 0000000000000 O00O0O00D0O0O0DOOOO0O0OOOOOOO
0 Calabi-Yau 0000000000000 000O0O0O0O00O0O0O0OOOOO0OOODOOOOOOOO0
000000000000000000000000 Calabi-Yau OOD4-brane 00 0000w ODO0DO00O
0000 NS5-brane 000000000 0O00ONS5-brane 0000000000000 0wOD00ODOO
0000000 D4brane 000000000000 00O00O0O0O0O0O00OONSS-brane 0000000
00000000000000000000000D00000000000 NS5-brane D w 00000
00000 28=2=21=00000000000000000 M=20000000008SU(2)g0
000 (2%,2°21) 00000000000000

NS5-brane 00000000000 O000OONSS-brane 00000 D2-brane 00000000000
000000 D2-brane 000000000000000O0O0O000O0O0DOOO0O0O0OOODOOOOO
0000 AN=20000000000000000000000000000000000O000O000O000
0000000000000000000000 deformation 0000000000000000O00O0
000 NMN=200000000N=10000000 Vv,0OOOOOOO s;000000000

(x%,2°,21) 000 NS5-brane 0000000000000 000O0O0O0O0OOOODOOOOOOOOO
00000000000 SU(2x 0000 30000000000000000000000 N =20
00 FI00D0000000000000000000s= (2 +42°)/L;; 000 As=7000000
0000 22000 ¢=6000000000000000 WOOOOOOOOOO00OO0OO Kooao
00o0000o0O0oo0oo0ooon

W=r1S, K=(V (323)

0000000000000 00O0O0000O0O00U0bOO0O00ODoDOO (2870 N;=00000000
0000000000 (287) 00200 N, 0000000O0OD4-braned NS5-brane 00000 OOO
gooooOoboooobobooooobooooon

00000000 FIOODODOOOODODO0OO0OO0ODOD00000D000ON =2000000N =20
Fayet-Illiopoulos 0 000000000000 OOOOCOD §;00000000000000O0OOO
ocooooooosooooooooOoooooooooooooogoooobooOobbDOoooooOooooD
00000 AN=200000000800000000000000000000O00OOOOOOOO
NS5-brane OO OO OO0 deformation OO0 O0O0O00OO0OOOOOOOOOOOOOOOODOOOOOw
0000000000000 0O0ONSS-brane 100000000 wOOOOODOOOOOOODOOOO
oboooooboooogon

S = /dea wo*w (324)
gstr

000000 (15 0000 NS5-brane 000000000000 D0wO00000000DODO 24000
oooobooobooboobon
w = w(u,2"). (325)

000 (324 0000000000000000000 200000000000000000000

_ /f /mAdﬂw&U ignoT = /& 8,210z (326)
gstr 62162'*]
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oo0o0oo0000oO000b0 Koooooooooooo

2
Kzi/wdu/\w*du* (327)
4(g4i)?
000 wwO00OO0O0OO0OD0DO00O000000000ONSs-brane 0000000000000 OODO0O

O0000000(293)000000Calabi-Yau OOOOOOOOOOOOOOOODOOOOOOO

2w 2ms
K:7/ Wz.0) AW =7/ Q.00 A (328)
Wgd? Jox "0 TTOD AR Joy OOV

0000000000000 000IIBOOOOOOO Calabi-YauOOOOOOOOOOOOOOOOO
gboboobOoboooooboooobooboooooboooo
gboooooooboboboooooobooboboooooooboobobobooobooooonBOO
00 Calabi-Yau D0 O 0000000000000 OOO N=200000000000000000
oooooobooooooobobooooooobooboOoooobboooooooOoooOooooDooD IBOD
0000000 (32) 0000000000000 000o0o0Uoo0o0oooooUDooooUoo

dgmm = Gimm0z' = Wﬁiﬁpqﬁ*mpqézz (329)

D000000D0000000nOon
~V/=9'%9" g" " 0,910, 957 (330)

O000o0D 0000 4000000000000000O0000DODODO0OO

4 K iopusg
S=—[dzy/—g———=0,2 0"7 (331)
02027
gooooO0obO0o0obOobob0 vz oboooooooboooobobooooooboo
471"/6 . *
o= =g (¢, B0 120 152

OO00D0000D0 Calabi-Yau O00OO0O000O0O0O0O0O0OV;OO0DOOOODODOOODDOOODOOODO
Calabi-Yau 0000000000 DOOCOOODOOOOODOOOODODO

z/ QAQ* = V5|QP* +i6 (/ Qz,0) A Qg‘o,g)) (333)
cY cY

000 332)00000000000DO0DO Vs —oo000O0O0O0DO0O0ODO0OODO0OODOOOOOOOO
boooOoboooooboooobooboooon

4mi
= Q N 334
T Jp 00 .

00000000000 |92=80000000000 NS5-brane 00000000000 ODODODODO
000 (328) 00000000000

4.6 0DOOOO

O000 NSh-brane D000 O0OO0OO0O0O0O0OCOOOOCOOOQO NS5-brane O Calabi-Yau 00 0O
ooboooobooooooobooboooobooooboooooooobooooboooboooooOooooon
OO00000000DO NS5-brane OOOOODOOOO0DOODOOOODOOOOODOOOODO Bucher
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000000000000 000000OU0OU00o0O0OoOoUOoOoUOoO 00000 o0oUoOoUoOd
0000000000 Calabi-Yau UODODODOUOOOOODODODOODOOOODOODOODOOOOOO
J0000000oooDoooO0O0Oo0o0o0o000ooo0o0o0o0000dooOooon Calabi-Yau OO0
OO0000o00uooooouooooouoooooooooon

NS5-brane 0O OO O00OD0OOONS5-brane D000

w=w(u), s=s(u), (335)

00000000000MMDOD 2 00000 (255) 00000000000000000s0000
M-OOO ' 000000000000M5-brane 0000000000000000000 T-dual 00
gboboobOoboooobobooooobooooon

ds? = |du|? + dsf (u) (336)

O000ds?y(u) O center 0000 « 00000000 Taub-NUT OOODOODOODOOOOOOOO
Odspn 00000 « OO00O0OO0OOO0OOCOOO0ODOOOODOOOODOOODOODOOODOOGsO
H;0OOO0ODOO0OO00O0 (314) 000000 3-form field strength G 0 0 (295) 0 00 NS5-brane 00 00
T-dual DO0OO0OO0O0OO0DOOOODOOOO

GS = ZdS[ ANr (337)
I

ny O Taub-NUT OO ds?FN(u)DDDDDDDDDDDDDDDDDDDDDDDDDDDDD
ny O Taub-NUT 0000 self-dual DO 00 *du=4du OO0DO 0000

x6GS = iGY (338)

00000000000000000000000 imaginary self-dual 00000000 (336) O (337)
000000000000000000000 (338)00000000000000000000000
00000 Calabi-Yau 00O OO0O00O0O000000O0O0O0O0O0DOOODOOODOOOOOOOOOOO
00000000 MO000000000000000000000000000000O00O0O00O
00000000000000000000000000000000000000000000000
00000000000000000000000000000000000 dG§¥=00000000
G{00000000000000000D0000000000000000000000000000
000000000000 0000000000000000M
0000k 0O, 0000000000 kKBAn,=0000

GSC Nkcy =0 (339)

00000@Mkey O (299 000000000MO00 G§ O primitive 0000000000000
0000 (339)00000000000000000000000000 (339)00000000000
00000000000000000000000000000000000000000000000
0018, 19]

000000000 G§Y00000000000000000000000000000000000
0 SUB)0000000000000000000 3form0 3430 30000000000000
00003000060000000000000000000000000000000000000
00000000000000000000 (2,1)-form0 600000000 (0,3)-form 000000
(337)00000(0,3) 000 G 000000000000000000000000000000(0,3)
0000000 Gukov-Vafa-Witten 0000000 (318) 000 00000000000000000
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g3 gbbodobooboobooboobooboob -oboan

form (3,0) (2,1) (1,2) (0,3)
SU(3) 333]=1 [33]3=3+6 3[33]=3+6 [333]=1
self-dual X X o o X o
primitive o X o X 0 o

0000000000 N =10 Yaneg-Mills 0000000000000000O00O0O00OOO0OGVW
0000000000 0000 NSs5-brane 000000000 OO0OO0OOOOOO(337) 0000000
OO000000000000Calabi-YauOOODODOOOOO 40000000000000D0CO0ODO
0000o00ooUuo0oo0ow=0000000000000(0,3)00000000O0ODOOOOOOOO
goood

oooooo0oooobooooob formflux 00DOOO0O0ODOOOODOOOOODOOOODO

Oo000dooooooooooooo sform 000000000000 O0OOOOOOOODODODO
O000o0oo0o00oDooo000nD HsO GsO0ODOOOoO00oOooooooogooooboooooo
O00000000000000000000 RR5-0000 H3O GsOOOOOOOOO oO0OOO
00000 (48) 0000000000000 00G; 000000000 Uoooooon

dGs = H3 N G3. (340)

xGs=—-Gs; 000000000000 0O00D00DO0O0OOoDODOOoOOooDOn
Gs; 0000000 (340) 0 H3 O Gs 000000 OO0 effective O D3-brane O charge 0 0O O
doooboodooobooouooboooboooa ds%Yzﬁmndxmdm"DDDDDD Calabi-Yau O
O D3-brane 00 O000O0OD3-brane 000 pO00000000OCOO g D000 OO Calabi-Yau O
volume form 0 we DO OODOO
dGs = pwg (341)

0000000000000 00D3-brane 0000000000000
ds? = h=1%y,, da"da” + h/?dsky (342)

O0000 ADDD00O0O0000O Calabi-Yau 00OOO0O0OO0O0O0
A@h:—gstrp. (343)

O 0OORR 4-form potential 0 0123 000000000000 0O0O

1
gstrh

Coi23 = (344)

000000000 D3-brane 000000 3-form 0000000000000 D3-brane 0000
goboboobOobooooboboooog

H3 A G3 = PD3We6- (345)

0000000000000 00000Gukov-Vafa-Witten 0000000000000 O0O00O0OO
obooooooooooooboooooboobOoobobobooooo0oooooboobOOobOoobooon
gboooboboooobooboooooboooobooboooobooboooooboooobooboooDoDbb
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000000000000000000000000000000000000000 3-0000000
000 D5-brane 0000000 D5-brane 000 000000000000 O0O0O0O0O0O0O0O0O0OOOO
00o000O0ooo0oooon
00000000000000000000000000000000000000000000000
000000000000000000000 (330)000000000000000000000000
000000000000 0000000D00000D40000000000000 g, O Calabi-Yau
00000 gmn 0 Sx(9w)(gms)* 0000000000000D000O0DOO0ODOOO A ODODOO
0000000000000000 (328)000000000000/([20]

211

K:A———/ hSs.0y A U, (346)
9B Joy 00D

ocooooooooooo0oobooOo pO0OO0O0OOO00ODbOOO0ODOOOO0DD ROOODODOOOD
000000000000 00D000O0D0O Calabi-Yau ODOOOODOOOOOOODOOOODOOODO
oooooooooooooooobo0oooob0 pPOODOOOODOOOOODODOOOODDOOO

form OO DOOODOODOO N\/jg|Gg|2DDDI:IDDDDDDDDDDDDDDDDDDDDDDD
0000000000000000D000000 A'00000000000D0 4000000000
gooboobooboobad NK’?VV)Z‘WJDDDDDDDDDDDDDDDDDDDDDDDDDD
00000 (346) 00000000000 OOOO

OO00000000oOD000 Dterm 00000000 DOOOODOOOODOOOODOOOODO
0000 NSh-brane OO0 Mb-brane 0O0OO0OO0O00OD-term OO0 OO0O0OO0OOOO0ODOOOOOODO
ooooboOoboooboobooooooobodFrFterm 0000000 ODOOOOODOO

4.7 Elliptic model

41 00000000000000000 NSh-braneJOOOODO D4-brane JO0OO0ODOOOOOO
00000 NSs-brane DO0OOO0O0O0DOCCOOOO0ODDOODOOOOOODOOODOOOOOOOOD
OO0000Otreelevel DOOOOOOOODOOOOODDOOOODO

200000 L,O00000000000D00(1) 00000000 POO NS5-brane000000
0000000 2°=2"=2=0000002° 00000 NS5-brane 0 I 00000000000

w

Lo
‘Lu:z,@ /QYA b4

NS5, NS5, NSb53

013: M=20000000000000000000000000000000000O000OO0OO

NS5-brane 000000000 O0OODODOODO IDOO NS5-braned I+ 1000 NSh5-brane 00O Nj
OO0 D4-brane DO ODDODODODOO0OI=10I=P+10000000P OO0 NS5-brane 0 100
0 NS5-brane 0000 D4-brane 00 000000000000 Dé-braned 2° 0000000000
0000000000000 00000000O0o0O0o0Uooo0D0 U(Ny) Doooooooooooo
o000 N=200000000 HleU(NI)DDDDDDDDDDDDDDDDD UNy) ODoooo
N=200000000N=10000000 V;00000000 &, 00000000000D4-0
0000 «00000000000SU(WN,)ODO0O0O0O0oo0ooooooonD ¢, 0000000000
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SUN;) 000000000 - ONSSOO0O0OOOOOOOUOOOOO((2) 000000000000
ooooooo

Tr = 8141 — SI- (347)

000000000000 NS5-brane J000000000000 Dd-brane 0000000000
00000000000000000000000 X;0Y,0000000000000000000
0ooooooo

X: (N, Ni_1), Y:(NpNi_1). (348)

N=20000000000000 ¢;0000000000000000O0O0O0O0OOOOOOOO0
goooo

W(X,Y,®) = ®/(XYr - Y111 X141) (349)
I

oooe;0 ¢, ,00000000000D000X;0 VyOOOOOOOOOOOOOOOOOOODOAO
OO0 D4d-brane JO0DOOOOODOOOOOODODOO
O000Do0o0o0bo0 quivee DOOOO0O0O0ODOOO0O 150000000000 NyOODOOOOD

D, D,

D
Y Y Y
oelse et

Xy Xy X3

014: N=200000000000000000000000000000

ocooopoooOo0opoooOooooOD 2N, 0000000000 DOOOO0ODOODOD pOO0O OO
gbobooboooooboobooooboobooooooboo

00 N=2000000000000000000000000N=10000000000000
00007000 NSs-brane0 w OOOODODO0O0 w=w;(v) 0000000000000 000O®; 0O
O00000000000000(260)00000000000O0OO0O0OO

wry1(u) — wr(u)
(27l5)3 g4ty

W'(®r) = (350)

O00000000000000000 NS5-brane 00000000 wy(u) 000000000000
goooogo

wr(u) = pqru. (351)
000 p 00000D000O0q; 0 TOODDOODDOOODDODOODOO ¢op=0000¢qr=10000
00000000 ¢r=1000 NSh-brane v« 0000 w OODOO0OO0ODOOOOOODOOO 15

OO0 . 0000O0OCDODODOODODOOO NSs-brane OO0 wOOOOOOOOOOOOODOOO
oboooobooooobobooooobooon

w="~ > lare — a9 (352)

0000®, 000 qiy1=¢; 000000 00000¢q41 #¢ 000000000 0000000
0000O000000000000%, 000000000000 decouple J0MO 16000000,
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. -

NS5, NS5, NS53

015: M=10000000000000000000000000000000O000O0O00OO0

O 16: SPP OO O quiver diagramO 000000 O0O00O00OO

o000 Ftem OO0OOO0OO00O0OO

o, = _%(X,Y, — Y71 X141) (353)

Ooo0oDooOO0o000ooDOoOOo0o0ooooDb ¢, 0000000000 ®7 0 decouple 1O0DODO

goooooono )
W = _E(QIJA —aqn)(X1Yr — Y1 X141)? (354)
ooooooooono

oboooOoboooboobobooobooboooooboooo

1
W= > Cr(XrYr = YrnXr) — 5 > (@ —an)(XrYr = Y Xia)® (355)
q1=qr+1 qr#qr+1
oooobo w0000 bO0o0bOob0b00oD™ Fterm OO0 0O0ODOO0ODOODODOODOOODOODOO
agoood

2qr — 1
;= II+ u

(X]Y1+Y1+1X[+1) (356)
DDDD(XIYI)2|:||:||:|DD[lDDDDDDDDDDDDDDDDDDDDDDDD

W= Y ®(X1Yr = YrXrn) + Y (a1 — an)(X1Y¥rn Xri) (357)
qr=qr+i1 qr#qr+1

ooooe, 0000 ¢, 00000
O00 N;00000D00000000000%; 0 decouple 00D000OO0OOOOOO SU(Ny) O
000000 AN=200000000000000004=0000000 ®; 0 decouple 000000
SUN;) 000000000000 0O0OO 2N, 0000000000000 00O00O0OUODOOOon
gbooboobooobogobobbooboaoboobooboooboboabo
OO0 NSh-brane 00000 §4.30000 T-duality OO O0O0D0OO0OO0OOODODOOONSS-brane 00O
Ub00db0¢gr=000000000w=000000 mgr=1000000000w=00000 n0O
O000ONSS00000 world volume 000000 w™u” =00000000 2° 000 T-dual 00
OO0000000 Calabi-Yau OO OQOOOOOOOOO

xy = wmu" (358)
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000000 m=n=1000 conifold 000000000000 m,n 00000 Ogeneralized conifold
000000m=2,n=100000suspended pinch point0 SPPOOOODOOO

00000000000 modulispace 0000000000 O0DODODOO0ODOO0ODOOOOOODOOODO
oodooooo0o0ooDoodoooo0dUoooOo0UooDoO0o0ooDoooUooooOoUoooDOoooD
00000000000000000O000000O00 y)ooooooooooooooooooo
OO0000o00oooooooooooooon

(I)[, Z‘EXPH'XgXl, yEY:[YQ"'YP’ XIE/]. (359)

0000000000000000000000000000000
00000000000 (q,q2,¢3)=(0,0,1) 0000000000000000 quiver 100 1600
0000000000000000000000000000000

W =& (X1Y7 — Y2 Xo) + (XoYaY3X3) — (X3Y3Y1.Xy). (360)
00000000000 Fterm OOO00ODOOOO0OO0ODOOOCOOOOOOOOOOOODODOOO

Fx, = (1 — X3Y3)Y1, Fy, = (9 — X3Y3) Xy,

Fx, = —(0; — X3Y3)Ya, Fy, = —(®; — X3Y3)X, (361)

o000 Fterm 00 F=00000DOOOO0ODOOO000 ¢, 0 X3YsO0ODOOOOODO0OOO0OD
ooo 30

Fp, = X1Y1 — XoYs, Fx, = —(X1Y1 — XoY)Ys, Fy, = —(X1Y] — X5Y2)Xs. (362)
00000000000 X,v1 0 X,Y, 00000000000000000000
w=XY,=XoYs, u=X3V3=9%, =z v, (363)
040000000000000000000000000000000000
2y = wlu. (364)

go0o00ooOo spPOO0O0OOCODOODOOODOO

(363) 000000 w0 w0 S'O000000 Dé4-braned « 00000 w O0000000O0O0DOO
OO00O0O0O00ONS5 O NS5, OOOOOO Dd4-brane 0 » 000000 000000 O0OOO0OODO
000000 «w-0000000 D4-brane 0 NS5 OO ODOODODOODOOOODOD4 O NS5-brane 000
000000000000 00000000000 X3Y; 0000000000 ww 0000000 0ODOO
0000000000000 Dé4-brane 0000000000000 S'00000O000O00 T-dual
000000 D3-brane 0O OD0OO0OODODOOOOODOODOD D3-brane 00OD0OODOOOOOO
0000000 T-dwal OODOODOOODOO Calabi-Yau OOOOOOODOO

0000000000oo0doo00o00od0ooo0ooo0oDo0ooooooOoooOooooooon
N=2000000 carved cut D000 Coulombmoduli 00000000000 O0O00O0O D4-brane
0000000000000 0000000000000 AN =10000000000000 cutOO
go0o0o00odo0oDoOdooO0ooOdo:000bO000bOO0O0D0 N;ODOOOoOOODOODOOOoODOOoOOo
0000000000000 00000000o0o00D00o00000D000000DO000Ooo0oOoonn
NS5-00D0O0O00oooooooooooooooooo0ogooooooooooogooooooooD
0000000 N, 0000 cut O monopole condensation 00000000000 OOOODOOOOO
0oo[21]
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000000 NS5-brane 0000 ¢r=0,100000000000000000000 F-term OO
oboooooboooo

w:X]Y1<qI:0):(I)[(qI:1), u:XIYI(qul):q)[(qI:O). (365)
Joodoooboboooooobobobooooooooo
xy = wmu". (366)

000000 T-dual 00000 DO O generalized conifold (358) 00000000

5 0O0O0O0OO Calabi-Yau

5.1 0O0Ogpoood

O2nd00d0dddddoodoooon n oo oooooooooad
bbb oo b0 oo oooOb0boooooooo
n 0000000000000 OO0O0000000 nOD0O0O0O0 BOO TrOOO0O000O0OOODOO
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